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Message

-type: int
-image: String
-sound: String
-word: String
-mean: String
-answer: String
-reRight: String
-reWrong: String
-Question: String

+soundPath: String

+displaySound(String path): voig
+displaySound(): void

Word

Child

Parent

+msg: Message

+word: Word

<= +initCM(): void

+receiveMsg(): void

+exitCM(): void

+checkMsg(String buffer): void

+initPM(): void
+findWM(String buffer): void
+findNaver(): void
+deleteFromDB(): void
+addtoList(): void
+exitPM(): void
+showlList(): void

-word: String

-mean: String
-sound: String
-image: String

g

+getWord(): String
+getMean(): String
+getSound(): String
+getlmage(): String
+setWord(String w): void
+setMean(String m): void
+setlmage(String img): void
+setSound(String sound): void
+initWord(): void

Interface

+child: Child
+parent: Parent
-tableCnt: int

+initMsg(): void

+getType(): int

+getlmage(): String
+getSound(): String
+getWord(): String
+getMean(): String
+getAnswer(): String
+getReRight(): String
+getReWrong(): String
+getQuestion(): String
+setType(int type): void
+setlmage(String img): void
+setSound(String path): void
+setWord(String w): void
+setMean(String m): void
+setAnswer(String a): void
+setReRight(String rr): void
+setReWrong(String rw): void
+setQuestion(String g): void

+initPage(): void
+displayMain(): void
+displayCM(): void
+displayPM(): void

+addList(String word, String mean): void
+setWordMsg(String path, String word, String mean): void

+sendMsg(): void

+displayMsg(String question, int type): void

+displaySelection(String str1, String str2. String str3, String str4): void

+displaySelection(String str1, String str2. String str3): void

+selectMsg(): void
+cancelMsg(): void
+findWord(): void
+displayS(): void
+displayWord(): void
+deleteWord(): void
+addWord(): void

+goNext(): void
+displayError(String str): void

Database

+collection: DBCollection
+ob: BasicDBObject
+db: DB

+setMsg(Message msg): void
+setWM({(Word w): void

+findWord(String word, Word w): void
+searchByWord(String str. Word word): voi
+searchByKey(int key, Word word): void
+insertWord(): void

+delWord(String word): void




displaySound()

User

-str: String
-soundPath: String

+getStr(): String

+setStr(String str): void
+displaySound(): void
+getSoundPath(): String
+setSoundPath(String soundPath): void
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Child

Parent

-msg: Message
-db: Database

+word: Word
-db: Database

+receiveMsg(): Message
+checkMsg(String buffer): String

+findWM(String buffer): Word
+findNaver(String buffer): boolean
+deleteFromDB(Word w): boolean
+addtoList(VWord word): boolean

Message

-type: String
-image: String
-sound: String

-word: String

Interface

-mean: String
-answer: String
-reRight: String
-reVWrong: String
-question: String

-word: Word
-msg: Message
flag: int
#Database: db

-word: String
-mean: String
-sound: String
-image: String

+getWord(): String
+setWord(String word): void
+getMean(): String
+setMean(String): void
+getSound(): String
+setSound(String sound): void
+getlmage(): String
+setlmage(String image): void

Database

+getType(): String
+setType(String type): void
+getlmage(): String
+setimage(String image): void
+getSound(): String
+setSound(String sound): void
+getWord(): String
+setWord(String word): void
+getMean(): String
+setMean(String mean): void
+getAnswer(): String
+setAnswer(String answer): void
+getReRight(): String
+setReRight(String reRight): void
+getReWrong(): String
+setReWrong(String re\Wrong): void

+displayMain(): void

+displayCM(): void

+displayPM(): void

+setWordMsg(String path, String word, String mean): void
+sendMsg(): void

+displayMsg(String message. int type): void
+displaySelection(String str1. String str2, String str3): void
+displaySelection(String str1, String str2, String str3, String str4): void
+cancelMsg(): void

+findWord(): void

+displayS(): void

+displayWord(): void

+deleteVWord(): void

+addWord(): void

+goNext(): void

+displayError(String str): void

-jedis: Jedis

+setMsg(Message msg): Message
+searchByWord(String str. Word w): Word
+insertWord(Word w): boolean
+delWord(String word): boolean
+showlist(): String[][]

+getQuestion(): String
+setQuestion(String question): void

Jedis, Json AtE
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Go Main

WORD MEAN ]
aquarium LRt -
banana HFLFL}
camel LR}
chicken Sl
crap Al 3
crocodile e F
dolphin =i
duck 2
eagle S|
elephant 2|
fox =
frog H=2E
giraffe 2l
goose HE
leopard HH
lion AR |
mankey 2 =] 2ot

|| FIND

ADD

DELELE
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fox =

frog H=2El

giraffe 2l

goose HE

leopard i

lion AFAE |
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Go Main
WORD MEAN \ ;

aquarium EEEE -

banana HFLHLF ’ Jl—ﬂ[—)—J
camel SHEL

chicken =

crap Al 5

crocodile =l £

dolphin =10

duck 22

eagle el |:||O|H'| ?:-llA—h{ 7E:|-T'—|'
elephant BII2|

fox =]

frog H=2E

giraffe el

goose HE

leopard 1=

hon__ AL < | ADD DELETE
mankey 2 =0l
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2. Parent Mode

WORD
aquarium AET a
hanana HEL H b
bear =
camel =i
chicken = 3
crap A 1
crocodile =1
dolphin =k |
duck 22 | 9
eagle el
elephant 272l
fox 2
frog M2
giraffe Il
goose HE
leopard £ |
linn AFRE ¥

MZ=2 EHof =7}

Go Main

|| FIND

bear

il

-

ADD

RELELE
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2. Parent Mode

a = :—?‘E —

WORD

aguarium

-

banana

ire

>

bear

came

m

chicken

crap

crocodile

dolphin

il 12| =2 m0f ) k) EE|

[l
=

duck

eagle

1o
|
i

elephant

fox

0

frog

giraffe

goose

lecpard

lian

|

banana [:]
HHLH_t

DELETE
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WORD MEAN ‘
aquarium =2t -~ ’
bear =
camel CIEF banana [ |
chicken &l
crap A _| B
crocodile 2 3
dolphin =1JcH 7
duck 22
eagle el
elephant il
fox g
frog H=2El
giraffe el
goose HE
leopard HH
lion AFAE _l
mankey 2 =0l > ADD

Go Main

| FND

2| A E Update

DELELE
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WORD MEAN ’
aquarium HEZE -
banana HELFLF
bear B
camel SHE}
chicken = £
crap A 1
crocodile af
dolphin =k |
duck 22 | 9
eagle el
elephant 272l
fox 2
frog M2
giraffe 12l
goose HE
leopard i |
linn AFRE ¥

Go Main

bear

il

Sound button

ADD

RELELE
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2. Parent Mode

@i /n j hitp://www.howjsay.com/index php?word=banana

f| O Pronunciation of banana - ... %

banalisation
banalised
banalising
banalites
banalities
banality
banalization
banalized
banalizing
banally
banana

ME &2 THoj= QIE{ S0 A
sound play 7}=

how y X
TIMEMECC % |58 A 207

A free onli@F Talking Dicti y of English Pr

Submit || Browse

Notes * Tools * New ¢

banana

Define your entry here Translate your entry here
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aquarium

Go Main




3. Child Mode

éj :

What is this? D

aquarium oSy

| aquarium | DEL S

’ ri l um aq ua
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aquarium

aquarium

Good Job
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[ Package Explorer gfu JUnit 2 = m

g =] .- ~
Em Lim‘ Q(/ o=l Y

Finished after 0.452 seconds

Runs: 10/10 B Errors: 0O B Failures: 0

P E’_, Testing [Runner: JUnit 4] (0.156 3)|
eE] testCheckMsg (0.031 s)
e testReceiveMSg (0.125 <)

4 i) UserTest [Runner: JUnit 4] (0.000 s)
el testDisplaySc-un (0.000 )
4 FiE] ParentTest [Runner: JUnit 4] (0.203 s)

E*ﬁ_] testFmdNaver (0. 3:3 5)
_.J testFindWM (C.C00 5)

4 Fi] DatabaseTest [Runner: JUnit _'j (0.047 5)
e testinsertWord (0.016 s
Eﬂ testShowlList c 015 :_:
g testSearchByWord (0.
e testDelWord (0.000 s)
E;_J testSetMsg (0.CCQC s)

(80)]

E_] Testing.java &3 (i), Jedis.class 1J| Parent’

« ® import static org.junit.Assert.*;[]

public class Testing extends TestC
Child c;
Database db;
5 @BeforeClass
public static void setUpBefore

}
> @AfterClass
public static void tearDownAft
}
= @Before
- public void setUp() throws Exc
super.setUp();
db = new Database();
c = new Child(db);
t
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assertEquals(“Good Job”, result); |
= — = o H — = =

|

ro

assertEquals(“Good Job”, result);
1-2 Hello Good Job  PASS

ZHIE Chotd AKX &= A| “Good Job” =2 =}9|
assertEquals(“Hello is right answer”, result); Hello is

1-3 L ) o oot ellHo right PASS
25 O3ty HA|X] &3 A “Hello is right answer” =& 29| answer
assertEquals(“Hello is right answer”, result); Hello is

1-4 ) ) N Null  right PASS
Null 2 A| “Hello is right answer” =21 =9l answer
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m Name = “testDelWord” mmm

assertTrue(db.delWord(“tiger”));
2-1 tiger  True PASS
DBO|| M0 A= SOl &I Al AFA| =2, true return
assertFalse(db.delWord(“apple”));
apple False PASS
DBOJl MEE|0f UX| QL Thof @12 A| false return
assertFalse(db.delWord(null));
null False PASS

null 228 A| false return
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assertTrue(db.insertWord(w));
3-1 w True
DBOj| M&E|0f _AX| %2 Word 22 A| A =3, true return

assertFalse(db.insertWord(w));

w False
DBO|| X&EZ| A= Word U= Al false return
assertFalse(db.insertWord(w));
w
False
null 913 A| false return (=null)

E Name = “testInsertWord” mmm

PASS

PASS

PASS
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m Name = “testSearchByWord”
assertNotNull(db.searchByWord(“tiger"));
DBO| MZ k[0

o| I:l-
AN - L

of 238 Al oY EHO{2| Word data

assertNotNull(db.searchByWord(“tiger”).getMean());
o 3 Al Y EHO{2] Word Mean

o

DBO| MZE[0f U= E
data Z7} nullO| OfL|LC}.
assertEquals("2 2 0[", db.searchByWord("tiger”).getMean());

o 22 Al S| Eto{o| Word Mean

[t

ol C}

DBO|| ™% k[0
data 7 &8 £HO{Q| ot=
assertNotNull(db.searchByWord("apple”));
DBO| & &0

U2 CHo| @ Al SHE EHO{ 2] Word data

PASS

PASS

PASS

PASS
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n Name = “testSearchByWord” mmm

assertNull(db.searchByWord("apple”).getMean());

DBO|l MZEE0f QX| 22 thof 2 A| 8l Hojo|Word Mean apple  null PASS
data 7} nullO|LC}.

assertNotNull(db.searchByWord(null));
Null Word PASS
Null @2 A| S|E EH{ o] Word data return

i assertNull(db.searchByWord(null).getMean());
Null &= A| S| CH{ o|Word Mean data 7} nullO|C}.

null null PASS
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E Name = “testSetMsg()” mmm

assertNotNull(db.setMsg());

5-1 - Message PASS
HAIX|E HEH2 = EOFA Message & 2|EH =0l

m Name = “testShowList()” mmm

assertNotNull(db.showList());

thojet S HiE = 2

7 |Name = “testFindwM" ___________________|Input] Output | Result

assertNotNull(p.findWM(“tiger"));

DBOf| M&E[O A= EHo] = Al Word & 2[H
assertNull(p.findWM("*"));
7-2 N * Null PASS
E42%} £H0] Y2 Al Word ¥ 2|
27

- String([] PASS

tiger  Word PASS



8 | Name = “testFindNaver’ Input | Output_| Result

assertTrue(p.findNaver(“apple”));

8-1 apple true PASS
ACHo] &Y =, A A0 ZX A, true 2[H
assertTrue(p.findNaver(“At&"));
ALEF true PASS
ot= CHol &8 2, AA Zar 23 A, true 2| E
assertTrue(p.findNaver("dkkfjksd")); kkfik
. dlkk] false PASS
Random String & &, ZA4 ZA 17} 9o o, false 2| H sd

m Name = “testReceiveMsg()” mmm

assertNotNull(c.receiveMsg());

- Message PASS
dbO| A ZHIEA msgE SO LH true 2|H
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